
S pomocí zadání najdi správné číslo:

This number increased by four is ten. Number is ..........

This number decreased by six is two. Number is ..........

This number decreased by five is three. Number is ..........

This number increased by nine is ten. Number is ..........

This number decreased by five is one. Number is ..........

This number decreased by three is six. Number is ..........

This number increased by three is eight. Number is ..........

This number increased by two is six. Number is ..........

This number decreased by seven is two. Number is ..........

This number increased by seven is nine. Number is ..........

This number increased by four is seven. Number is ..........

This number decreased by one is six. Number is ..........

Angličtina pro děti - hledání čísel
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